1% B BE b ;0 Se 4L 35 Il B b A E AR (11 T)

AL RN S 0

P B K T AR R R A & o COF B B2 0 9 £k 1% I 2 5 A o G
A1) —— B 55 I 20 00 ) R A8 11 3t A A o 8 DU KL ) T A 40 0

— MR SE R A S5 A

1. F= AL

(D AR ER A =200 5K ROl R =85 % . F ¥ B H<<18 K. fHERI=E
PRAEEL A B F 2 3538 A8 B =60 5K 5 B =60 5K 3 Wb IR AMEE =20 3K iy OB =
25 Bk s M AR =25 3k SICUZ=10 3K,

() AF IR A Be s A B=3400 NIK.

AETTZE =95 000 AKX .

(DAEZZH=9500 AR,

2. B RsREE

(1) 55 o 28 060 250« 3 AR S0 3A 10 520 i 28 B A9 L 5 1 I PR 5 1 4 ik
FIFEZ W FAR KA AR S A HN ] % 16 2 B B RS Ak 15 )1 P 28 S5 4
HEGRAT) — MBS0 40000 ) ity 25K, DL RfE 2 .

(2) FARFhSEFNG1 % . UL

3. Bk &

X S HL, BUF WY LA 1 S HL(DSA) . CT . MR S AYF AL, % 4 B # Gl
Doppler 2830 LUK A LR

(D PTCD.ERCP. £F 4 & 5i . 25 W B8 . P WA AR 97 3 4 L I8 6 55 IR 38 B
%,

(OFRBME CTE.CEHE.

(D XAER M. 2 3P,

(1) e B R YD IR B 2 R B

(5) MR H R )2 3 F A 8] 22 A0 REF R i il e

(6) MW A=Ak Ha s DR A 56 15 45

C7) SR R EE W AL s 0y R AL, I W ATL , 6 I AR AL o A9 A o

44



SNEHE IS HA S 4 ]

(&) RAMIGERHIL

(9) BREEHL

4 AEHEREERE

(D & RHE AR B RN B IRANEE O B AN RL R EERE AR ERE WA IR
J7 % (SICU)  #l 2AMEE,

(2) AR &l 56 Hb Jir 75 B2 B A AF 2 11238 L 202 B B iU GEBO B s
BERL TR E KK B 2E R ARk DL RE (4 B B U AT I R B AT 9 bR

5. P FRE

(DFARE B HEHAH=300m",

(2) Bz FAR B TF 6 (8], el I AL =>25m? ,

O BAFAREE DA 4 ZHEL DAFHEAR AR,

(DR FL A EAREE  BNFREBES 1 GFRK.FARBM. LT &
HNRIE BEAT R R ZE VRO B 4 R R A R B R T | 2 L2 AT D B R LR 3R R
%,

6. EJ7 THEF

(DR B TAE & - AR E R4 5 I 4 H A B R 8 =5 9K . 4R W3R A B sm A5
=180 AKX,

(D112 TAE = AER AU 2 H 2R 2B E =20 AK.

(A TR iER AN 2 H 2R 2B EH =10 AK.

AR M BT 2% A

1. A B4

(D F5 5 BRI 55 55 U106 4 Lo A6 i 3k B s 2t 123,

(I FEIMALK AW BN A EEE=1 AR FEEM=1 A, RRE
=2 A,

() BA i R L M B R 55 09 N B8 R 2 8 B B LE 491 B =70 %6, T A
B ViS5 AR 2 D3 B hy B2 2 AR

2. IWEEWEMH

B2 AR B DA 25, ER BRI Ll F R BR 45 3 4F DL s NFEAMRE Lk 19 )
WA TAEREE 5 4E D L, B R RF AR LGSR 1R L,

3. B A i T A S

B2 AR K LA 27 AR BRI LB AR BRSNS AR 9 B2 57 BRI
HFETAER 15 4F, R LT Rz —.

45



(e BE MR YE AL BN B A E pr o A7)

(DT 3 AFRAEE WAL 2 AR TP E R SCT 22 AR ) % 3 ik PRATF 5838 3C

=15,

(2) 35 3 AFR G AR AT M T LA b G b L Tl 200 15 A & Ml A G 9 I PR AR 52 R

I .

(3) F R AT 3l T 4 DL E 5 i 480 A el 451 3580 A) i R B BF 0T L A

Sz W BRI 55 BHIF B

Mt
ShRI—ICU
AEIIR N B CANTO =190
P i 24 AL IR BB
TR =50
HLA I S IRYT A =25
I A H e Ah 2 A 5E BB BX
Al 52 55 =5
BERENE =5
e FH W AR =10
WP AL 45 1 =5
SR —L i S Y
ST PN (O /@) =1000
GRS O/ Q) 30000
GV S O/ @) =3000
T S AEZ IR 5L
31 R 973 95 =50
1 193 A A
Jii =5
SEFLIR R =5
Bk A5 T =25
42 B LR R T Rk e =10
ARk R 5 kSR =25
AT AT FL Sk 26 AT R Rl ik g =25
ik & =25
ISRCIN e =50
Jie i =15
A3 i =10




SNRLE L EE MBI 4E )

(& %)
Atk R % =25
62 4 i =25
FRR M98 i 245 4 FROIR B fe =25
FLIR G =25
TR =25
IR 45 =25
1 e =25
Ji7 K KL =25
TR A AR SE U B
N A A =25
bR 5 F AR =25
A2 Ji 2 1 A =25
FOIR AR TR =50
FH 7T SR AR B R 4 B0 AR =50
451 VIR AR =25
LR B R AR SR TR A A =25
JIEL 42 DI A =50
.+ FAR =25
JAREREL i U1 B & A =1
BRI 2 WA R =1
SE—BR
EN IS PN (N9} =750
EARN S {ON/ ) =20 000
ES=3 S {ON/ Q) =2000
RS CRVRELIES
B LA =50
R O A S A =50
B3 RGP =25
A (1] 485 5 i =10
U I =10
5 O IR =10
B I =10
B LR AL A T AL SRR A A B E =50




(& %)

FARF 58 B 151 B
UL B A 6 AL ) Tk 52 L =25
LA Y B A5 =25
TG 10 5 0 AE G L Bk B 18 52 B URE ) =25
TEHC I 0935 B T 42 467 P =25
A w25 T R =15
N TR F e AR =10
DU RS UL R B AR BV TR =10

SMRL—h FR 4 R

AECIE B AT =300
AN S 9600

P 2 IR AL
W PR B TH 3R 98 AE =50
E-FIR )Y Ab =5
T 370 J 386 24 i =25
52 =5
R W kot 7k =10
WIR R G54 =30
i ke 9 =20
5 fi R =10
T3 9 =5
i B 1 E A =5
R R Wk s D2 LA >5
S UM A R =5
S RI] "N =5
% B Fir 98 - A =5
RSN =15
WIR R FR =10
T8 B4 AR =10
PRIE B 7EF AR =5
W PR TE 2RI AR =5
JiE P 6 PRI BEF R =15

SMRE— B 0 5 7Y

G Y PN (O N/ @) =200



SNRLE L EE MBI 4E )

T2 (AR =500
L=V 3 {ON/ Q) =100
VT ES AR IR 1 4R
B G =10
it Jis =15
W8 A | it g L S =10
At 38 g 95 o =15
UL KA O R =10
U PR 3 58 5% 9 =5
HoAth U i 5 SRR 95 =10
FARF A 58 1151 4R
e 2 2 0 A =15
e pe b =X 5 AR =15
TEHg A =10
T T AR =10
it o B B AR =10
JemFA =10
HAth U I TF A =10
SR — SR
EAISEY PN (PN @) =750
ETT2 R (AT 2000
L=V 3 {ON/ @) =300
UITES AR IR 11 AR
PP >38
3k B 5 43 =38
P 451 4 =38
PP TOHE A P9 e >3
N S P I =8
FARFHE AR 58 B 151 £
S B 4 FA =20
A 2 =20
FEAFAR =20
i 28 2 i A =15




